Model 93 Overhead Concealed Closer

Non-Hold Open and Hold Open
Metal Frame Installation Instructions

/\ WARNING

This product can expose you to lead which is known to the
state of California to cause cancer and birth defects or other

reproductive harm. For more information go to:
www.P65warnings.ca.gov.

NORTON
RIXSON

IS

ASSA ABLOY

READ AND FOLLOW ALL INSTRUCTIONS.
SAVE THESE INSTRUCTIONS.

4 Model 93, (Left Hand Shown) )
Center Pivot Hung
Components
(Supplied fasteners shown on page 3)
Cover Plate
Arm LH: 90272-(finish)
LH: 90236-(finish) RH: 90275-(finish) Track
RH: 90237-(finish)
Optional Hold Open
Assembly (90254)
Retrofit Track Spacer and
Closer Body Screws, Optional (90260) a.
93 LAP or Not for new installation. N/
PH93 LAP (ADA) Replacement only. Consult factory. Slider Non-Hold Open Stop
Pivot Kit (90253) Block (90255)
[\ |
\_70224KIT- (finish) J
Kl'ools Needed )
\
(0} s\ ,7
Oo ||
Level Framing Tape
Square Measure
ﬁ Pencil
Grout
Philips _Flathead 5/16" 3/8" #7 V‘* 20 36" =/ - Spreader .
Screwdriver Screwdriver Wrgr?éhes Drill for Metal for Wood Hammer Drill  Plumb Bob Tool Hammer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited

IS93 Rev2 08/23 Approved 2024-02-02

Experience a safer
and more open world



N NORTON
A RIXSON

- : Model 93 Metal Frame
ASSA ABLOY

Contents
MoUNting HardwWare ... ... 2
SUPPIEA FasSteners. . ..ot e 3
NS alatiON o 4
A USTMI NS o 9
TroUBIESNOOTING .. 10
Model 93 Center Pivot Set Template . ... e n

IMPORTANT:

e An improperly installed or incorrectly adjusted door closer may cause property damage or personal injury and wiill
void product warranty.

¢ To avoid personal injury, DO NOT DISASSEMBLE THIS DOOR CLOSER BODY.
¢ Door closers must be securely fastened to a prepared door and frame with fasteners provided.
¢ HOLD OPEN option not permitted to be installed in fire door assemblies.

Before You Begin:

* The Americans with Disabilities Act (ADA) requires e« A separate auxiliary door stop, supplied by others,

that doors having door closers have an opening is strongly recommended to avoid damage to
< force not to exceed 5 Ibf. door closer and adjacent property.
e Door closer’s power size adjustment feature may e Doors should be hung on ball bearing or anti-
require adjustment to its lowest setting to comply friction hinges/pivots. Door must swing freely.
with ADA opening force guidelines. For other hanging means a special layout may be

. required, consult factory.
¢ ADA compliant closers may not latch doors, 4 Y

manufacturer does not guarantee latching on e Door and frame must be reinforced for attaching
lower opening force settings. Sscrews.

e All dimensions are given in inches (millimeters).

Mounting Hardware

Mounting Hardware Door / Frame Drill
Closer, Top Pivot and Bottom Pivot: ;
#14 % 1-1/2" Wood 3/16" (4.76mm)
Closer, Top Pivot and Bottom Pivot: Metal Drill #7 (.201 dia. or 510mm)
1/4-20 x 5/8" Tap 1/4-20
Track: Aluminum or "
#14 x 1-1/4" Wood 316" (4.76mm)
DW Track: Hollow Metal Drill #7 (201 dia. or 510mm)
1/4-20 x 716" Tap 1/4-20

Experience a safer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in
and more open world

part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

2 Approved 2024-02-02 IS93 Rev 2 08/23



R NORTON
A RIXSON

Model 93 Metal Frame - .
ASSA ABLOY

Supplied Fasteners
4 N N
Top Pivot Screw Pack Bottom Pivot Screw Pack
(70242-finish) (70243)
5x 5x 2x 4X 4X Ix x
1/4-20 x 5/8" #14 x 1-1/2" 8-32 x /4" 1/4-20 x 5/8" #14 x1-1/2" 3/8-16 Female 3/8-16 x 2-1/4" SHCS
PFHMS PFHWS PFHUCMS PFHMS PFHWS Threaded Base Plate
Pivot Pivot Finish Plate Pivot Pivot Drop-in Anchor
N\ /O %
4 N 7 N
Cover Plate Screw Pack Closer Screw Pack (E)
(90278-finish) (90241) (E)
6x 4x 4x
6-32 x1/4" 1/4-20 x 5/8" #14 x 1-1/2" | " "
PFHMS PFHMS PFHWS ﬁLGX 54?;%( ,L/ex
Cover Closer Body Closer Body Wrench Wrench Wrench
i i i
N\ RN %
4 N O N
Closer Track Screw Kit Arm Screw Pack
(90242) (90283-finish)
4x 4x 2x X
1/4-20 x 716" #14 x 1-1/4" 1/4-20 x 1/2" Conical
PFHUCMS PFHWS PFHMS Washer
Track Track Arm Attach Arm Attach
N\ NG %

Experience a safer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in d Id
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited. dand more open wor

1593 Rev2 08/23 Approved 2024-02-02



N NORTON
A RIXSON

- : Model 93 Metal Frame
ASSA ABLOY

Installation

A. Prepare frame and door.

Metal Frame
1. Using supplied templates, prepare and mortise

door and head jamb for pivot set. (Figure 1)

2. Confirm all cutout dimensions for closer.

Top of Door

Bottom of Door

B. Install top pivot set.

1. Install jamb portion in prepared frame with
two (2) 1/4-20 x 5/8" machine screws. (Figure 2)

. . . Pivot Point
2. Install door portion in prepared door with

three (3) 1/4-20 x 5/8" machine screws or
#14 x 1-1/2" wood screws. (Figure 2)

3. Attach finish plate to jamb portion with
two (2) 8-32 x 1/4" machine screws. (Figure 2)

Portion

Finish Plate

Door Portion

MTop Pivot Set

Experience a safer
and more open world

4

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

Approved 2024-02-02 IS93 Rev 2 08/23



N NORTON
A RIXSON

Model 93 Metal Frame - .
ASSA ABLOY

Installation (cont.)

C. Install bottom pivot set.

IMPORTANT: Pivot point of bottom pivot must be plumb
with top pivot point. Be sure to properly locate and
mark pivot center point of bottom base plate. )
| Door Portion
(Installed in
Mortised Door)

1. Install door portion into prepared door with four (4)
1/4-20 x 5/8" machine screws or #14 x 1-1/2" wood screws.
(Figure 3)

NOTE: Depth of mortise in door bottom will determine
clearance.

Using a plumb bob attached to top pivot, locate and
mark position of base plate on floor.

Drill 3/4" dia. x 1-3/4" (19 x 44mm) deep hole in floor on
center of pivot point for base plate mounting.

Base Plate Screw

@@ (p

Pivot Point

IMPORTANT: It is critical to door alignment and

proper frame clearance that this anchor hole is Base Plate
positioned within 1/32" of true plumb alignment with
the top jamb portion pivot point.

Drop-in Anchor
(Installed In Floor)

. With open side up, place drop-in anchor into floor hole.
If necessary, tap lightly with hammer until anchor is at

bottom of hole. mBottom Pivot

NOTE: Clean all concrete dust from hole before
installing drop-in anchor.

5. Set anchor by striking spreader tool with hammer until
the sleeve of the anchor is fully expanded. (Figure 4)

6. Insert provided base plate screw into anchor to plug

opening.

NOTE: Apply grease to base plate screw to prevent grout

from sticking to screw and to facilitate removal. y
7. Grout anchor into place. After grout has set, remove

base plate screw. @LAJW

8. Place base plate over anchor and securely fasten to floor M_
with base plate screw.

9. If using a threshold, install it at this time.

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in Ex?jerlence d Safer Id
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited. dand more open wor

1593 Rev2 08/23 Approved 2024-02-02 >



N NORTON
A RIXSON

- : Model 93 Metal Frame
ASSA ABLOY

Installation (cont.)
D. Hang door.

Pivot Adjustment
Screw

1. Ensure pivot stud is fully retracted into pivot by
turning pivot adjustment screw counter clockwise

with a flathead screwdriver. (Figure 5) Pivot Stud

2. With door in open position about 90° to jamb,
carefully fit door onto bottom pivot at a slight
angle. (Figure 6)

3. Tip door into vertical position aligning frame
portion pivot stud to door portion hole.
(Figure 7)

4. With top pivot stud aligned with door portion
hole, use a flathead screwdriver to turn pivot
adjustment screw clockwise to extend pivot stud
into door pivot portion. (Figure 8)

IMPORTANT: Fully tighten adjustment screw
to ensure pivot stud is fully extended into door
portion. There is a door tipping hazard until
door is held vertical by pivot stud.

5. Verify frame is square by using a framing
square. Gaps between door and frame should be
consistent. Gap should be 1/8" (3mm) at jamb and
header. (Figure 9)

NOTES: Door should swing freely.

e If vertical height adjustment is necessary, use
shims between door bottom and bottom pivot
portion to increase clearance.

/8"
e To decrease clearance, increase mortise depth @)

in bottom of door.

e Toremove door, retract pivot stud and tip door
out of vertical position, then lift door from
bottom pivot.

o]

Non-Hold Open Track Components
E. Assemble track. Long End
1. Slide track components into track. (Figure 10) ."@
NOTES: Block ~/%
Slider
* Alltrack components must be placed in track ) )
before installing track into door. Hinge Side
of Track
* Insert slider into track first.
* Stop block (or optional hold open) should be Optional Hold Open Track Components
last component at hinge side of door. ~
I %v Long End
* The longer end of slider should be pointed [ ‘
towards hinge side of door. Hold Open
Slider ‘
Hinge Side
of Track

Experience a safer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in
and more open world

part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

6 Approved 2024-02-02 IS93 Rev 2 08/23



N NORTON
A RIXSON

ASSA ABLOY

Model 93 Metal Frame

Installation (cont.)

F. Install track to door.

1. Make sure slider and track components are
installed prior to installing track to door. See
Step E.

2. Install track and, if necessary, optional retrofit
spacer (replacement application only, consult
factory) using either four (4) provided 1/4-20 x
7/16" FHPMS screws for metal door or four (4)
provided #14 x 1-1/4" FHPWS screws for wood
door(Figure 1).

®
‘ 1/4-20 x 7/16 FHPMS (4 each)
or 14 x 1-1/4 FHPWS (4 each)

Optional
Retrofit Track
Spacer

1. Install closer in prepped frame with Frame Rabbet

four (4) 1/4-20 x 5/8" FHPMS mounting screws
provided. (Figure 12)

NOTE: Mounting plate should be flush with
frame rabbet.

H. Install cover plate.

with six (6) 6-32 x FHPMS mounting screws

g 1. Install cover plate to closer mounting plate
provided. (Figure 13)

6-32 FHPMS
(6 each)

Experience a safer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in d Id
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited. dand more open wor

1593 Rev2 08/23 Approved 2024-02-02



N NORTON
A RIXSON

ASSA ABLOY

Installation (cont.)

I. Attach arm to closer.

1.

Attach arm to closer shaft with

Model 93 Metal Frame

Pinion
Screw Door Side

1/4-20 x 1/2" machine screw and s
washer. Tighten securely. (Figure 14)

IMPORTANT: Arm should rest at ® =

15° away from door side of closer
mounting plate. Arm always Approx
rotates in direction of door. 150

Figure 14

Parallel

J. Attach arm to track.

Experience a safer

and more open world

8

With provided 1/8" hex wrench, completely

tighten latch and sweep valves by turning screws
clockwise. This will allow for an easier closer-to-door
connection. (Figure 15)

Open door to about 45° then rotate arm over to
door.

NOTE: Arm should maintain position because latch
and sweep valves have been tightened.

Align slider square with arm square and connect
using 1/4-20 x 1/2" machine screw. (Figure 16)
NOTE: If you choose to open door beyond 45°,

backcheck may need to be adjusted counter
clockwise to easily rotate arm to door position.

Backcheck Sweep Latch

Arm Square

Sider Square

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in

part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

Approved 2024-02-02

IS93 Rev 2 08/23



Model 93 Metal Frame

Adjustments
Speed Adjustment

Use provided 1/8" hex wrench to adjust

sweep, latch and backcheck valves to control

speed of door. (Figure 17)

& NEVER completely close backcheck valve.
NEVER use backcheck as a dead stop.
NEVER fully open valves. Valves will leak.
Do not use a power drill.
Warranty will be void.

Closing Force Adjustment
If additional force is needed, use 3/8" hex
wrench to adjust closing force. (Figure 18)

Do not use a power drill.
Warranty will be void.

All 93 Series closers are factory set to
minimum force. Adjust closer as

Increase
Power

@

Decrease
Power

N NORTON
) RIXSON
ASSA ABLOY

Slower
g

Faster T
B e

5o
Latch Speed

Slower

é

Faster .

Stronger

@

Weaker

9 e

75°

Backcheck Sweep Speed

o S~ ‘

Figure 17

necessary for more force taking into Spring Power Adjustment for Closing Force
consideration door size, weight, positive (Closer shipped at lowest setting)
room pressure, etc. Model PH93 Model 93
Closer Approx # of 360° Closer Approx # of 360°
Size Turns Size Turns
ADA 0] 3 0]
1 15 4 17
2 30 5 25
3 55 6 32
Optional Hold Open Adjustment
IMPORTANT: This feature cannot be used
on fire rated doors.
Set Screws

1. Insert locking tab of hold open assembly
into track slider. (Figure 19)

NOTE: Hold open assembly should be on
hinge side of track slider.
Open door to desired hold open position.

3. Tighten hold open set screws to lock
down hold open assembly.

4. Pull door in closing direction to
disengage hold open assembly and track
slider.

5. Adjust hold open by turning adjustment
screw with provided 3/16" hex wrench.

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in
part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

Approved 2024-02-02

IS93 Rev 2 08/23

Holding
Force
Adjustment
Screw

Track Slider

Locking Tab

Increase Force

Out of Hold Open

@

Decrease Force
Needed to Pull Door Needed to Pull Door
Out of Hold Open

9

Experience a safer
and more open world

9



NORTON
RIXSON

The ASSA ABLOY Group is the global leader
in access solutions. Every day we help
people feel safe, secure and experience
a more open world.

NN

ASSA ABLOY

K. Install removable stop.

After closer is installed and all adjustments

are complete, install removable stop.

(Figure 20)

/_\ IMPORTANT: DO NOT drill holes into

closer cover plate.

The Model 93 Overhead Concealed Closer has now been installed.

Troubleshooting

Symptom

Cause

Remedy

Door won't latch

Spring tension not strong
enough

Increase opening force.
See “Adjustments” on page 9.

Latch speed control not fast
enough

Adjust latch speed valve.
See “Adjustments” on page 9.

Door hung on products other
than center pivots

Send template for hanging means to
factory. A new installation sheet is required.
Closer will need to be relocated.

Arm is not preloaded

See Step J. Attach Arm to Track

Door is too difficult to open

Spring tension is set too strong

Decrease opening force.
See “Adjustments” on page 9.

Technical Product Support:

Monroe, NC 28112 USA

Phone: 877.974.2255 ext: 2
Techsupport.NortonRixson@assaabloy.com
NortonRixson.com

Norton Rixson is a brand associated with ASSA ABLOY Accessories and Door Controls Group, Inc., an ASSA ABLOY Group company.
Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in part

without the express written permission of ASSA ABLOY Accessor

pprove

ias an%[ﬁﬁﬁc_}ﬁrélférﬁup, Inc. is prohibited.

IS93 Rev 2 08/23




NORTON
RIXSON

NR

Model 93 Overhead Concealed Closer Template

Center Pivot Set

ASSA ABLOY

Metal Frame

‘[wwi] seysul Ul suolsuawid ||V

Twiwigy] b/g-L ueyy Jorealb

SSaUXDIY3 J0Op 10§ A103108) 3 NSUOD

‘Buimelp a|eds Jou og
‘aouelea|d quiel 03 JoAld pasdxe Jou

IsnW 1noInd quuel [esllen pue dojspesH
‘pPopuswiwiodal dois Aleljixny -

‘saulel) pue Ss100p |e1@aW MO||oY J0J
papuswiwodal 00L-1dS/ISNY 4ed Buidiojuiay
‘paiinbaJ edueles|d 113J0s 03 Joop [wwg] ,8/L
wiwigl] ,z/L sseuydiy3 dois winwiiuin

c
C

L

‘S3LON

[Selg/e-L]

uondQ YoelL 1J0119y

[£Z] 9l/1-L | uonediddy piepueis

Uolsuswiq V.

Jaoeds yoeu|
o119y |euondo

‘aysoddo pueH 1y61y

‘UMOUYS 18S0|D pue Joo pueH a1

dois s|jgenoway 4

<

sased ||e ul
abpa awely woid [¢] m\ﬁ/_

[Lgs] 8/1-12

[ol] 8/g—— |-

[ol] w\ml&

[ H

!

f

sa|oH BUIIUNON 41850|D
48/S X DNN 0Z-¥/L (X*)

dois ajgenowal yibus| [Ny Buisn
10U JI sqe)y dojs a|gerowsy

/]

[ol] 8/ ———

Y1PIM In0IND 4950|D

===

22B4INS JUNON qel

03 312qqey aweld [11] 91/4

[s6] ¥/g-¢ —

[9sS] 8/L

[oL] v/¢-2—

-l

.

[ol 8/S—= |~

[651] 4/1-9

/‘o_oum a|qenowal aney 1sniy

ﬁ

sqe] BUlUNON 18s0|D l\

‘Ul dwield
[749] %7/2-L

sased ||e ul

mmvmmrcmtrcoi
[g18/L

Nl

WIPIM Ui

1850|D

[zoll %

'sjuawiisnfpe Jadoad

9YeW pue 1as0)d ||eIsul 01 9|qeAowal 89 1snw doispeaH
‘y1bua| Jeso|o ueds 3snw doispeay ay3 Joj sejoy Bununo
‘uolie|jesul Jadoud 1oy 48s0|2 BY1

UM UOI3eUIqUIOD U] Pash @9 jshu dojspesy a|qerowal v

(,00L) uado pIoH £6

(,0z1) dois oes yym usdo p|oH-UON £6
(,0Z1) uadO P|OH-UON $£6

buluado jo asibaq 'xew

- ____n__________ | A
! L __L_I
1ybBloH 48s0|D looQ jo Qo._.\\ Ajuo spis dois uo 1noInd
[17] 8/5-L [g8¥] 6L
[8] 9l/s
9SI1OA JO Yibua]
i [009] 8/5-52
¥oel] jo yibua
[eLs) z/1-ze
apis dois
Auo epis dois uo 1noInDd
SS9UY2IYy3 100 -
R eop - [s8¥] 6L
U3 SSLBA ‘\
\T [ Mm - w = — 1
7 —
SPISlind [zoU 8/5-9
L 910N 985
UIN [79] /51— fesl v/l — [owy] g/1-oL
[zzl 8/L [9%S] Z/L-1l2

UIPIM dwield Ul
— [yl ¥/2-L

I [szll ol/SL-¥

POOM 104, Z/1-L X #L# 10
\_,w\m X DNN 0Z-#/L (X¥)

[szlL

[szll ol/SL-v

Experience a safer

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in

and more open world

part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

IS93 Rev 2 08/23

11

Approved 2024-02-02



Model 93 Overhead Concealed Closer Template

NORTON
RIXSON

NR

Center Pivot Set

ASSA ABLOY

Metal Frame

Z:131v0s
g |leeg

]
Loonen ) N
SSOUYDIY3 J00P YIM SBLIBA

[ov] 9l/gL-1d

21 LATVvOS
Vv |leieq
[LLl oygl-z

‘a11soddo pueH 1ybiy

‘UMOUS J8S0|D pue 100 pueH 1a7

J00p jo 93y

dojs a|qerowas aney ums_\/_f/

[egll ¥/L-S
-~ r~—Il[ol s/

vzl 8/L-%

—- [szlL

[sel v/¢-¢

1H—[9] %/L

ol 8/g
w j_ 18/

fedi] f

ST

hﬁm_ L

Jes|2 03 3noINd dois
|es1349A pue doyspesH

9] 9/g-L

‘Twwi] seyoul ul suolsuswiq ||V '8

/-1 ueys uerealb
SSBUXDIY3 J00p J0) A101DB) 3 NSUOD L
‘Buimesp ajeas jou oq ‘9

‘aoueIEd|D quie[ 03 J0AId PaadXa J0u
1snwi 1no1nd quuel |esuaA pue dojspesH 'S
‘Papuswiwiodal dois Aleljixny 4

‘sswel) pue s100p |e1awl Mo||oY 10}
papuswiwodal OOL-IAS/ISNY 4ad Buloiojuley ¢
‘paiinbai @dueles|d 114J0s 01 Joop [wwig] 8/l T
Twiwigl] ,z/L ssaund1y3 dois WnwIuliN L
‘S3LON
‘syjuswiisnipe Jadoid
@¥eW pue Jaso|2 ||eIsul 03 9|gerowal 89 1shw dojspeaH
‘yabus| Jeso|d ueds 3snw doispeay ay3 Joj sajoy Buizuno
‘uone||esul sodoid 4oy J8so|d Y
U1IM UOo[1BUIqUOD Ul pash aq 1snwi doispeay ajqeoual v

(,ooL) usdo pIoH g6

(,021) do3s 3oel3 yum uado P|OH-UON $6
(,0Z1) USdQ p|oH-UON £6

bujuado jo aaibaq "xew

VA INEEETS
UL [#%] %/g-L—

s8|0H BulIUNOA 10AId ‘\
.8/S X ONN 0Z-%/L (X2)

doas a|qenowal yibusj [|ny Buisn

10U JI sqe} dojs a|jgeroway

—

9DBJINS JUNON geL
031 18qqey sweld [0l] 8/

\  Joop jo |98y
1es|d 03 3n0INd dois
|eo1ue/ pue dojspesH

"

ﬂﬂf

sqge] Bulzunoj awiel JoAld dof

LT\ _ _

[PooM 10}, Z/L-L X L4 10
.8/S X DNN 0Z-%/L (X¥)

[sol 8/1-+

LW YIpIM aweld Ul
[ ¥/g-L

rleLl8/L-c

- [Lv] 8/5-L

[gwl] 9V/sL-S and
uollod 100Q 30Ald wonog - T:N_ al/sL
Il

(- [eglv/1-L

ﬂ_m_._ Z/L

L D@ ol/s

[sz1] 9l/SL-4
ﬁw_.: w\m.._u SS2UX{d1y3} J100p
poom 1oy, Z/1-L X ¥L# lolg/sz - YHIM mw.:m>
epis o_ouml_ 10,8/S X DNN 0Z-%/L (XS) o o g
— - T = : .
ﬁ' uol110d 100 ——I[gg] 9l/S-L
apIs lind l\ [zl /L e nn_ aom \ oo
(L] 8/S-v

Experience a safer
and more open world

12

part without the express written permission of ASSA ABLOY Accessories and Door Controls Group, Inc. is prohibited.

Copyright © 2021, 2023, ASSA ABLOY Accessories and Door Controls Group, Inc. All rights reserved. Reproduction in whole or in

IS93 Rev 2 08/23

Approved 2024-02-02



	Mounting Hardware
	Supplied Fasteners
	Installation
	Adjustments
	Troubleshooting
	Model 93 Center Pivot Set Template

